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N2(CMPLX)
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N5(EQN)
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MthIO MathO LineO MathO
LineO MathO

(LineIO)  1 
.

•  STAT, BASE-N, MATRIX  VECTOR 
  • 

B (MathO)
b

3Deg 4Rad 5Gra

v
V

6Fix 7Sci 8Norm

Fix: 0  9

b 100 ÷ 7 =  14.286 (Fix 3)
  14.29 (Fix 2)
Sci: 1  10

b 1 ÷ 7 = 1.4286  ×  10 –1 (Sci 5)
   1.429 ×  10 –1  (Sci 4)
Norm: 2 (Norm 1 , Norm 2) 

Norm 1: 10 –2 �  | x|, | x| �  10 10     Norm 2: 10 –9 �  | x|, | x| �  10 10

b  1 ÷ 200 =  5  ×  10 –3 (Norm 1)
   0.005 (Norm 2) 

c1ab/c c2 d/c ab/c
d/c

c3CMPLX 1a+bi ;2r∠  θ       EQN (a+bi)
(r∠  θ)

c4STAT   1ON ; 2OFF     STAT Stat  FREQ

c5Disp   1Dot ; 2Comma
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c6]CONT'

 COMP 

19(CLR)1(Setup)=(Yes)

=

 4  ×  sin30 ×  (30 + 10 ×  3) = 120

 4  *s 30  )*( 30  + 10  * 3  )=

  * 1
 * 2  * 3

*1  sin, sinh 

*2 (×) .
,  sin ,  Ran#( )
, (A, B, C, D, E, F, M, X, Y), , π e

.
*3 =

**2 )*3

  4  s 30  )( 30  + 10  * 3  =

•
] d

e
• f

c    • 
e
d

•  99 . ,
 1 .  3~13 .

• k
=

Math

Math
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(x2, x3, x–1, x!, °’ ”, °, r, g, %,'t),
(x^), (")

– , n (d, h, b, o) 
 –2)

((- 2  )w=)
x2

- 2  w=  2 

 (cm 'in )  STAT (m, n, m1, m2)

(nPr), (nCr) (∠ )

 (·) 

(× , ÷) 

(+, –) 

 AND (and)

 OR, XOR, XNOR (or, xor, xnor)

log, 
x2, x3, x^,),#,", x−1, 10 ̂ , e^, ∫  ,  d/dx, Σ , Abs

2 + '2
1 + '2

B

   ' 2  +! 2  ee 1  +! 2  =

•  1 
. (31 ×  2) .

•

=

A d e

7
6

' 7
6'

Math

K-9

 1 + 7
6  1 + 7

6' B

   1  + 7  ' 6 

   dddd1Y(INS)

   !

1Y(INS)

sin(30), log2(4)
',&,7,17(F),

1&(8),16("),1l($),1i(%),!,6,1!(#), 
1w(Abs).

1Y(INS).  “ I”
 “ ”

Y

Y

d e

A

f
' π 

π  ÷ 6 = 1
6

π  = 0.5235987756 B

15(π )/ 6  = 1
6 π f 0.5235987756

 ('2  + 2) × '3  = '6 + 2'3  = 5.913591358 B

(! 2  e+ 2  )*! 3  = ''6 + 2'3 f 5.913591358

Math

Math

Math
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f

 1 ÷ 5 = 0.2 = 1
5

b

  1  / 5  = 0.2 f 1{5

 1 – 4
5

 = 1
5

 = 0.2 b

  1  - 4  ' 5  = 1{5 f 0.2

• f
•

f •

10

(MathO) =
1= f

π '

2 +  1  =  7
3      2      6

B 2   '  3   e+  1   '  2   = 7
6

    '  2  c 3  e+' 1  c 2   = 7
6

   b 2   '  3   +  1   '  2   = 7{6

1 =  1
2      2

4 − 3 B 4  -1'(() 3e 1  c 2  = 1
2

   b 4  - 3  ' 1  ' 2  = 1{2

  • 
  • 

1f(<)

f

1((%)

 150  ×  20% = 30 150  * 20  1((%)= 30
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 660  880  (75%)

                               660  / 880  1((%)= 75

 2500  15%  (2875)

                2500  + 2500  * 15  1((%)= 2875

 3500  25%  (2625)

                3500  - 3500  * 25  1((%)= 2625

60
60 60

60 60
60

$ $ $.

0

 2°20´30˝ + 39´30˝ = 3°00´00˝

     2$ 20  $ 30  $+ 0  $ 39  $ 30  $= 3°0´0˝

 2°15´18˝ 

                                       2  $ 15  $ 18  $= 2°15´18˝
                              60 $ 2.255
                                (  60 .) $ 2°15´18˝

(:) 2 =

 3 + 3 : 3  ×  3  3  + 3  S7(:) 3* 3  = 6
        = 9

 1234 
   1234  =   1234
    W   1.234×103

    W   1234×100

 123 
   123  =   123
    1W(← )   0.123×103

    1W(← )    0.000123×106
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COMP, CMPLX  BASE-N  200 
f c

 1 + 1 = 2  1  + 1  = 2
 2 + 2 = 4                                                        2  + 2  = 4
 3 + 3 = 6                                                        3  + 3  = 6
   f 4
   f 2

O

d e

4 × 3  + 2.5 = 14.5 b                                4  * 3  + 2.5  = 14.5
4 × 3  − 7.1 = 4.9 dYYYY- 7.1  = 4.9

'

A d e

(Ans)
 Ans   Ans 

 3  ×  4  30 b

  3  * 4  =

/ 30  =

 123 + 456 =  579 B 123+ 456  =

 789 –  579 = 210
    789  -G=

(A, B, C, D, E, F, X, Y)
 A, B, C, D, E, F, X  Y 8

Math
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 3 + 5  A 

                                       3  + 5  1t(STO)y(A) 8

 A  10 

   Sy(A)* 10  = 80

 A       ty(A) 8

 A 01t(STO)y(A) 0

(M)

0  “M” 

 M                        0  1t(STO)l(M) 0

 10  ×  5  M      10  * 5  l 50

 10 + 5  M         
            10  + 5  1l(M–) 15

 M            tl(M) 35

 M 

Ans A

!9(CLR)2(Memory)=(Yes)

   ππ   : π  3.141592654 π  = 
3.14159265358980

   e   : e  2.718281828 e = 
2.71828182845904

sin, cos, tan, sin −1, cos −1, tan −1:
1

sinh, cosh, tanh, sinh −1, cosh −1, tanh −1: w

2

°,  r, g:  ° r g

1G(DRG') 3
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$, %:
4

log: l logab  log ( a, b) a
10

&

5

ln: e 6

   x  2, x3, x^, ), #, ", x−1: x^, ), #,
"

7

• : x2, x3, x^, x−1

 2 ww w 222

 2 w d w B
• x2, x3, x−1

: Gauss-Kronrod

∫a
b f(x)

∫ ( f(x), a, b, tol) tol
 1  ×  10–5 tol

“
8

F:

dx
d

( f (x)) � x=a dx
d ( f (x), a, tol) tol

1 ×  10–10 tol

9

8: f(x) Σ ( f (x))
x=a

b

 =  f(a) + f(a+1) + f(a+2) + ...+ 

f(b) Σ ( f (x))
x=a

b

Σ ( f(x), a, b) a b  –1  ×  1010 �   a �   b �  1 ×  1010

10

f(x), a b : Pol, Rec, ∫ , d/dx, Σ .

Pol, Rec : Pol  Rec 
11

Pol(x, y) = ( r, θ)          Rec( r, θ) = ( x, y)

(Rec) (Pol)

r θ x y
X  Y

θ 
−180°� θ    � 180°
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   x     ! : 12

Abs:
13

Ran#: 1  3 
14

RanInt# : a b  RanInt#( a, b)
15

   n  Pr, nCr : (nPr) (nCr) 16

Rnd: (Norm,
Fix,  Sci)  Norm 1  Norm 2

10  Fix  Sci
 Fix 3  10 

÷ 3  3.333
3.33333333333333 15  Rnd(10÷3) = 3.333 Fix 3

 3.333
Rnd  (Rnd(10÷3)  ×  3 = 9.999) 

(10 ÷ 3 ×  3 = 10.000)
17

A

•  COMP (,1)
• f(x), a, b tol Pol, Rec, ∫ , d/dx, Σ 
• f(x)  Rad

• tol tol
 1 ×  10 –14

•
• a �   x   �  b f(x) �  0 ∫0

1
 3 x2 – 2 = –1

• f(x)

• tol tol

•
0
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f(x)

           

    sin 30°= 0.5       bv s 30  )= 0.5
   sin −10.5 = 30° bv 1s(sin−1) 0.5)= 30

   sinh 1 = 1.175201194  wb(sinh) 1)= 1.175201194
   cosh –1 1 = 0   wf(cosh−1) 1)= 0

    π  /2  = 90°, 50  = 45° v

         (15(π )/ 2  )1G(DRG')c(r)=   90
    50  1G(DRG')d(g)= 45

    e5 ×  2  3 (Sci 3)

1N(SETUP)7(Sci)3

    B   1i(%) 5e* 2  = 2.97×102

    b   1i(%) 5)* 2  = 2.97×102

   log 101000 = log 1000 = 3  l 1000  )= 3
   log 216 = 4   l 2  1)(,) 16)= 4
                                B & 2  e 16  = 4

   ln 90(= log e 90) 3 (Sci 3) 

1N(SETUP)7(Sci)3 i 90  )= 4.50×100

   1.2  ×  103 = 1200B 1.2  * 10  6 3  = 1200
   (1+1) 2+2 = 16 B( 1  + 1  )6 2  + 2  = 16

S
S

∫ ∫ ∫a

b
 f(x)dx = 

a

c
 f(x)dx + (–

c

b
 f(x)dx)

S S

ba x1 x2 x3 x4

x
0

f (x)

a

b
 f(x)dx = 

a

x1

 f(x)dx + 
x1

x 2

 f(x)dx + .....∫ ∫ ∫
x4

b
  f(x)dx∫+

1

2

3

4

5

6

7
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 (5 2)3 = 15625    ( 5  x)1w(x3)= 15625
32

5  = 2     B 16(") 5  e 32  = 2
                b 5 16(") 32)= 2

'2 × 3(= 3 '2  = 4.242640687...)  3 (Fix 3) 

1N(SETUP)6(Fix)3 B ! 2  e* 3  = 3'2
       1= 4.243
                                          b ! 2  )* 3  = 4.243

∫1

e
ln(x) = 1

B 7iS)(X))e 1  eS5(e)= 1
b    7iS)(X))1)(,)

      1  1)(,)S5(e))= 1

y = sin( x) x = π /2
V

B     17(F)sS)(X))

       e'15(π )e 2  = 0
b     17(F)sS)(X))

       1)(,)15(π )' 2  )= 0

Σ
x = 1

5

(x + 1) = 20

B   1&(8)S)(X)+ 1  e 1  e 5  = 20
b      1&(8)S)(X)+ 1  1)(,) 1

       1)(,) 5)= 20

 ('2 ,'2 ) v

B 1+(Pol)! 2  e1)(,)! 2  e)= r=2,θ=45
b       1+(Pol)! 2  )1)(,)! 2  ))= r= 2 

          θ= 45
('2 , 45°) v

B 1-(Rec)! 2  e1)(,) 45)= X=1, Y=1 

 (5 + 3) ! = 40320  ( 5  + 3  )1E(x!)= 40320

 |2 – 7|  ×  2 = 10
B     1w(Abs) 2- 7  e* 2  = 10
b     1w(Abs) 2- 7  )* 2  = 10

3

      1000  1.(Ran#)= 459
       = 48
       = 117

8

9

10

11

12

13

14
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 1 6

     S.(RanInt) 11)(,) 6)= 2
       = 6
       = 1

 10  4 

                                       10  1*(nPr) 4= 5040
                                       10  1/(nCr) 4= 210

 Fix 3 
10 ÷ 3 ×  3  Rnd(10 ÷ 3) ×  3 b

1N(SETUP)6(Fix)3  10  / 3  * 3  = 10.000
      10(Rnd) 10/ 3  )* 3  = 9.999

(CMPLX)
N2(CMPLX)  CMPLX 

 ( a+bi) (r∠  θ)

 (2 + 6 i) ÷ (2 i) = 3 – i ( a + bi)
( 2  + 6  W(i))/( 2  W(i))= 3–i

 2  ∠  45 = '2  + '2 i Bv ( a + bi)
     2  1-(∠ ) 45= '2 +'2 i

'2  + '2 i = 2 ∠  45Bv ( r∠  θ)

     ! 2  e+! 2  eW(i)= 2∠  45

  • 
  • θ

–180° � θ     �  180°   • 
a bi ( r θ)

CMPLX

 (1 –  i)–1 = 1
2

1
2

+ i B ( a + bi)
     ( 1  -W(i))E=

1
2

1
2

+ i

 (1 +  i)2 + (1 – i)2 = 0 B

( 1  +W(i))w+( 1  -W(i))w= 0

2 + 3 i ( a + bi)
12(CMPLX)2(Conjg) 2+ 3  W(i))= 2–3i

15

16

17
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 1 +  i Bv

1w(Abs) 1+W(i)= '2
12(CMPLX)1(arg)1+W(i))= 45

('r∠  θ 'a+bi)

'2  + '2 i = 2 ∠  45,  2 ∠  45 = '2  + '2 i Bv

! 2  e+! 2  eW(i)12(CMPLX)3('r∠  θ)= 2∠  45
  2  1-(∠ ) 4512(CMPLX)4('a+bi)= '2 +'2 i

CALC
CALC  COMP (N1)  CMPLX (N2)

CALC

•  2X + 3Y, 2AX + 3BY + C, A + B i
•  X + Y : X (X + Y)
•

A = B + C, Y = X 2 + X + 3
 ( Ss(=) )

 3A + B
(A, B) = (5, 10), (7, 20)

  3  S-(A)+Se(B)

   s

 A  A

  5  = 10  =

   s ( =)

  7  = 20  =

  CALC A

Math

Math

Math

Math

Math
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 A + B i  ( r∠  θ) '3  + i, 1 + '3 i
v

   N2(CMPLX)

   S-(A)+Se(B)W(i)
   12(CMPLX)3('r∠θ  )

   s! 3  )= 1  =

   s ( =) 1=! 3  )=

  CALC A

A  CALC s

SOLVE 
SOLVE SOLVE COMP 

(N1)
 SOLVE

•  X  X 2 + 2X – 2, Y = X + 5, X = sin(M), X + 3 = B 
+ C 

 SOLVE  X  X 2 + 2X – 2  X 2 + 2X – 2 = 0

•
 SOLVE  Y

 Y = X + 5, Y

  • (sin  log )
  • 

∫ , d/dx, Σ , Pol, Rec.

y = 0, a = 1 b = –2 x y = ax2 + b

   Sf(Y)Ss(=)S-(A)

   S)(X)w+Se(B)

   1s(SOLVE)

Y        Y

  0  = 1  =- 2  =

  X

MathCMPLX

Math

Math

Math
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X (  1 ): 1=

SOLVE A

1s(SOLVE) A  SOLVE

  • X  SOLVE

  • SOLVE
  • SOLVE

  • 
y = 

sin(x), y = ex, y = 'x .

      

          – 

“  – ”

SOLVE
 “Continue: [=]” 

= A  SOLVE 

y = 3, 7  13 y = x2 – x + 1 x

                                    Sf(Y)Ss(=)

   S)(X)w-S)(X)+ 1   

   1s(SOLVE)

   3  =

Math

Math

Math

Math

Math
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X

(  1 ): 1=

   = 7  ==

   = 13  ==

(STAT)
N3(STAT)  STAT 

(X) 1(1-VAR)

(X, Y) (y = A + B x) 2(A+BX)

(X, Y), 2  (  y = A + B x + C x2) 3( _+CX 2)

(X, Y) (y = A + Bln x) 4(ln X) 

(X, Y), e  (  y = A eBx) 5(e^X)

(X, Y), ab (y = AB x) 6(A•B^X)

(X, Y) (y = A xB) 7(A•X^B)

(X, Y)  (  y = A + B/ x) 8(1/X)

1 8  Stat 

STAT
11 (STAT)1 (Type)

Stat
Stat 11(STAT)2(Data).
Stat  X 80  X 
FREQ  X  Y 40  X, Y  FREQ 

26

 FREQ
 FREQ  Stat 

Math

Math

Math
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    (170, 66), (173, 68), (179, 75)

   N3(STAT)2(A+BX)

   170  = 173  = 179  =ce

   66  = 68  = 75  =

  • STAT 
 Stat  Stat 

 •  Stat 
m,1m(M–),1t(STO). Pol, Rec, 

 Stat 

 Stat 
=

Stat
Y

 Stat 
11(STAT)3(Edit) 

1(Ins).
Stat  Stat 

11(STAT)3(Edit)2(Del-A).

 Stat A σ  x,
Σ  x2

(*)

Σ  x2*, Σ  x*, Σ  y2, Σ  y, Σ  xy, Σ  x3, Σ  x2y, Σ  x4

11(STAT) 3(Sum) 1 8

n*, o*, p, σx *, σy , Sx*, Sy

11(STAT) 4(Var) 1 7

 A, B, r, m, n
11(STAT) 5(Reg) 1 5

2  A, B, C, m1, m2, n
11(STAT) 5(Reg) 1 6

•

• m, m1, m2 n

1

STAT

STAT

STAT
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 minX*, minY,  maxX*, maxY

11(STAT) 6(MinMax) 1 4

11(STAT)5 (Distr).  “
”

x = {1, 2, 2, 3, 3, 3, 4, 4, 5}  FREQ 
   ({xn; freq n} = 
   {1;1, 2;2, 3;3, 4;2, 5;1}), 

1N(SETUP)c4(STAT)1(ON)

                             N3(STAT)1(1-VAR)

                  1  = 2  = 3  = 4  = 5  =ce

   1  = 2  = 3  = 2  =

   A11(STAT)4(Var)2(o)=

   A11(STAT)4(Var)3(σx )=

3  1.154700538 

     
 ( x, y)

  = (20, 3150), (110, 7310), (200, 8800), (290, 9310))
  Fix 3(  3 ) .

1N(SETUP)c4(STAT)2(OFF)

1N(SETUP)6(Fix)3

                               N3(STAT)2(A+BX)

             20  = 110  = 200  = 290  =ce

  3150  = 7310  =8800= 9310 =

   A11(STAT)5(Reg)3(r)=

            A11(STAT)1(Type)4(In X) 

   A11(STAT)5(Reg)3(r)=

   A11(STAT)5(Reg)1(A)=

   A11(STAT)5(Reg)2(B)=

 0.923 
 0.998

y = –3857.984 + 2357.532ln x

x y
x 2 x1 x2

y

2

STAT

3

STAT FIX
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   3 x = 160 
y  Fix 3 

3

   A 160  11(STAT)5(Reg)5(n)=

     8106.898

11(STAT)5(Distr)

P, Q, R:  t

't:  X 

 { xn ; freq n} = {0;1, 1;2, 2;1, 3;2, 4;2, 5;2, 6;3, 7;4, 9;2, 
10;1} x = 3 ('t)
P(t) (Fix 3)

1N(SETUP)c4(STAT)1(ON)

1N(SETUP)6(Fix)3N3(STAT)1(1-VAR)

 0  = 1  = 2  = 3  = 4  = 5  = 6  = 7  = 9  =

10=ce1=2=1=2=2=2=3=

4= 2  = 1  =

A 3  11(STAT)5(Distr)4('t)=

11(STAT)5(Distr)1(P()G)=

 ( 't):  –0.762
 P( t):          0.223

4

P(t) Q (t) R (t)

0 t 0 t 0 t

5

STAT FIX

STAT FIX

STAT FIX
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n (BASE-N)
10 16 2 8

N4(BASE-N) BASE-N BASE-N 
 10

 10
 10 w(DEC)

16 6(HEX) 2 l(BIN) 8
i(OCT)

 BASE-N 2 112 + 1 2

   N4(BASE-N)

   l(BIN)

   11  + 1  =

1F16 + 1 16

   A6(HEX) 1t(F)+ 1  =

8 78 + 1 8

   Ai(OCT) 7+ 1  =

• 16 A F
-(A), $(B), w(C), s(D), c(E), t(F) •BASE-N

(10 ) .
. • 2

16 32 .
.

n

2 : 0000000000000000  �   x   �  0111111111111111
: 1000000000000000  �   x   �  1111111111111111

8 : 00000000000  �   x   �  17777777777
: 20000000000  �   x   �  37777777777

10 –2147483648 � x �  2147483647

16 : 00000000  �   x   �  7FFFFFFF
: 80000000  �   x   �  FFFFFFFF

K-27

. : d(10 ), h(16
), b(2 )  o(8 ).

 10 10 + 10 16 + 10 2 + 10 8  10

Aw(DEC)13(BASE)c1(d) 10+

    13(BASE)c2(h) 10+

    13(BASE)c3(b) 10+

    13(BASE)c4(o) 10=   36

x(DEC) (10 ),6(HEX) (16 ),l(BIN) 
(2 ),i(OCT)(8 ).

 15 10 ×  37 10  10  16 , 2
8

    Ax(DEC) 15* 37  = 555
    6(HEX) 0000022B
    l(BIN) 0000001000101011
    i(OCT) 00000001053

2 (and,
or, xor, xnor) (Not, Neg) . 13(BASE)

.

2 (l(BIN)) .

10102 11002 AND (10102 and 1100 2)

    A 1010  13(BASE)1(and) 1100= 0000000000001000

10112 110102 OR (10112 or 11010 2)

    A 1011  13(BASE)2(or) 11010= 0000000000011011

10102 11002 XOR (10102 xor 1100 2)

    A 1010  13(BASE)3(xor) 1100= 0000000000000110

11112 1012 XNOR (11112 xnor 101 2)

    A 1111  13(BASE)4(xnor) 101= 1111111111110101

10102 (Not(10102))

    A13(BASE)5(Not) 1010)= 1111111111110101

1011012 (2 ) (Neg(1011012))

    A13(BASE)6(Neg) 101101)= 1111111111010011
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2 8 16 2
2 10

10

(EQN)
EQN

 1 ,  2  3 .

1.N5(EQN) EQN

2.

1
1(anX + b nY = c n)

1
2(anX + b nY + c nZ = d n)

2 3(aX2 + bX + c = 0) 

3 4(aX3 + bX 2 + cX + d = 0) 

3.
•  2 x2 + x – 3 = 0  2 3

(a = 2,  b = 1,  c = –3): 2 =1=-

3=
•

=
•A 0

m ,
1m(M–),1t(STO). Pol, Rec 

4. =
• =

=
•c f
• A

• '
1   • 

N5(EQN)
0
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EQN

x + 2 y = 3, 2 x + 3 y = 4

N5(EQN)1(anX + b nY = c n)

                                              1  = 2  = 3  =

                                              2  = 3  = 4  =

                                                                 =    (X=)  –1 
                                                                 c    (Y=)    2 

x – y + z = 2, x + y – z = 0, – x + y + z = 4

N5(EQN)2(anX + b nY + c nZ = d n)

                                1  =- 1  = 1  = 2  =

                                 1  = 1  =- 1  =0=

                                - 1  = 1  = 1  =  4  =

                                                                 =    (X=)   1 
                                                                 c    (Y=)   2 
                                                                 c    (Z=)   3

x2 + x + 
4
3  = 0 B

N5(EQN)3(aX2 + bX + c = 0)

                                1  = 1  = 3  ' 4  == (X1=) 1
2

+– '2
2 i

                                                                 c             (X2=) 1
2

–– '2
2 i

x2 – 2'2x + 2 = 0 B

N5(EQN)3(aX2 + bX + c = 0)

                      1  =- 2  ! 2  )= 2  ==    (X=)'2

x3 – 2 x2 – x + 2 = 0 

N5(EQN)4(aX3 + bX 2 + cX + d = 0)

                     1  =- 2  =- 1  = 2  ==    (X1=)  –1 
                                                                 c    (X2=)    2 
                                                                 c    (X3=)    1

(MATRIX)
MATRIX  3  ×  3 

(MatA, MatB, MatC)

 MatA 2  1
1  1

MatB   2  –1
–1  2

×2  1
1  1

  2  –1
–1  2

 (MatA×MatB), +2  1
1  1

  2  –1
–1  2

 (MatA+MatB)

Math

Math

1



K-30

1.N6(MATRIX) MATRIX

2.1(MatA)5(2× 2)
• MatA  2 ×  2 

“A”  “MatA”

3. MatA 2= 1  = 1  = 1  =.

4. 14(MATRIX)2(Data)2(MatB)5
(2× 2)

• MatB  2  ×  2 

5. MatB 2=- 1  =- 1  = 2  =.

6.A (MatA× MatB)
14(MATRIX)3(MatA)*14(MATRIX)4(MatB)

=
•  MatAns 

  “Ans”  “MatAns”

 “MatAns”  “ ”
“ ”

7. (MatA+MatB) A14(MATRIX)3(MatA) 
+14(MATRIX)4(MatB)=.

MATRIX  MatAns 
 “MatAns” 

MatAns
• MatAns
14(MATRIX)6(MatAns).

• MatAns
+,-,*,/,E,w,1w(x3)

MatAns

m,1m

(M–),1t(STO) Pol, Rec 

MAT

→
MATMAT

→
MATMAT
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1.14(MATRIX)1(Dim)

2. (m×  n)

3.

 MatC 1   0 –1
0 –1   1

   14(MATRIX)

   1(Dim)3(MatC)4(2× 3)

   1  = 0  =- 1  = 0  =- 1  = 1  =

1.14(MATRIX)2(Data)

2.
•

=

 MatAns
1.

•  MatA
14(MATRIX)2(Data)1(MatA).

• MatAns 
MatAns A14(MATRIX)6(MatAns)=.

2.1t(STO)
-(MatA),$(MatB) w(MatC)

•

1 MatA = 2  1
1  1 MatB =   2  –1

–1  2 2

MatC = 1   0 –1
0 –1   1 14(MATRIX)

3(MatA), 
4(MatB),5(MatC).

3 × MatA   A 3  *MatA=

 MatA (det(MatA))

   A14(MATRIX)7(det) MatA)=   1

 MatC (Trn(MatC))

   A14(MATRIX)8(Trn) MatC)=

 MatA (MatA–1)

6 E  “  –1”

AMatAE=

2
MAT

3

4

5

6
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MatB (Abs(MatB))

    A1w(Abs) MatB)=

MatA (MatA2, MatA 3)

6 w
1w(x3)

    AMatAw=

    AMatA1w(x3)=

(TABLE)
TABLE f(x) x f(x)

1.N7(TABLE)  TABLE 
2. X f(x)

•  X S)(X)
X

• Pol, Rec, ∫ , d/dx, Σ 
3. =

Stat? X =1

End? X =5
End

Step? =1
Step

Start
Start=1 Step=1  X 

 1, 2, 3, 4, 
End

• Step =

• A 2

–1 � x �  1 0.5

f(x) = x2 + 
2
1

B

        N7(TABLE)

7

8

Math
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S)(X)x+ 1  ' 2 

=- 1  = 1  = 0.5  =

 • 
  •  X 

  TABLE 

(VECTOR)
VECTOR 2 3

(VctA, VctB, VctC)

 VctA (1, 2) VctB (3, 4)
 (1, 2) + (3, 4)

1.N8(VECTOR)  VECTOR

2.1(VctA)2(2)
•  VctA  2

“A” “VctA”

3. VctA 1= 2  =.

4. 15(VECTOR)2(Data)2(VctB) 
2(2)
•  VctB  2

5. VctB  3  = 4  =

6.A  (VctA + VctB)
15(VECTOR)3(VctA)+15(VECTOR)4(VctB)=
•  VctAns 

  “Ans”  “VctAns”

“VctAns” “ ”
“ ”

Math

Math

1

VCT

→
VCTVCT
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VECTOR
 VctAns  “VctAns” 

VctAns

•  VctAns 15
(VECTOR)6(VctAns)

• VctAns 
+, -, *, /

 VctAns 

m,1m(M–),
1t(STO). Pol, Rec 

1.15(VECTOR)1(Dim)

2. (m)

3.

VctC (2, –1, 2)
15(VECTOR)1(Dim)3(VctC)1(3)

  2  =- 1  = 2  =

1.15(VECTOR)2 Data

2.
•

=

VctAns
1.

• VctA
15(VECTOR)2(Data)1(VctA)

• VctAns  VctAns 
A15(VECTOR)6(VctAns)=

2.1t(STO)
-(VctA),$(VctB) w(VctC)

•

1 VctA = (1, 2) VctB = (3, 4), 2 VctC = 
(2, –1, 2) 15(VECTOR)

3(VctA),
4(VctB),5(VctC)

2 VCT
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3 × VctA  3 × VctA – VctB VctAns

   A 3  *VctA=

   -VctB=

 VctA  • VctB

         AVctA15(VECTOR)7 Dot VctB=

 VctA  ×  VctB

   AVctA*VctB=

 VctC

   A1w(Abs)VctC)=

 VctA VctB
(Fix 3) v

  (cos  θ  = (A•B)
�A��B�

θ  = cos–1 (A•B)
�A��B�

)

   1N(SETUP)6(Fix)3

   A(VctA15(VECTOR)7(Dot)VctB)/

   (1w(Abs)VctA)1w(Abs)

   VctB))=

   1c(cos–1)G)=

BASE-N 40
π 

3

VCT

VCT

4
VCT

5
VCT

6
VCT

7

VCT FIX

VCT FIX
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17(CONST)
2

C0

   A17(CONST)

   28(C0)=

 C 0 = 1
ε0μ0

B

   A' 1  c!17(CONST)32(ε  0)
   17(CONST)33(μ0)=

2 .

01: (mp) 02: (mn) 

03: (me) 04: (m μ) μ

05: (a 0) 06: (h) 

07: ( μN) 08: ( μB)

09: ( h) 10: ( α )

11: (re) 12: ( λ c)

13: ( γ p) 14: ( λ cp)

15: ( λ cn) 16: (R ∞ )

17: (u) 18: ( μp)

19: ( μe) 20: ( μn)

21: ( μμ) μ 22: (F) 

23: (e) 24: (NA) 

25: (k) 26: (Vm) 

27: (R) 28: (C 0)

29: (C 1) 1 30: (C 2) 2

31: ( σ ) 32: ( ε  0)

33: ( μ0) 34: ( φ  0)

35: (g) 36: (G 0)

Math

Math
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37: (Z 0) 38: (t) 

39: (G) 40: (atm) 

CODATA 2007 3

BASE-N TABLE

18(CONV)

 5 cm b

   A 5  18(CONV)

   02(cm'in)=

 100 g b

   A 100  18(CONV)22(g'oz)=

 –31°C b

        A- 31  18(CONV)38(°C'°F)=

2

01: in  ' cm  02: cm  ' in  03: ft  ' m  04: m  ' ft 

05: yd  ' m  06: m  ' yd  07: mile  ' km  08: km  ' mile 

09: n mile  ' m  10: m  ' n mile  11: acre  ' m 2 12: m 2' acre 

13: gal (US)  'R 14: R' gal (US)  15: gal (UK)  'R 16: R' gal (UK) 

17: pc  ' km  18: km  ' pc  19: km/h  ' m/s  20: m/s  ' km/h 

21: oz  ' g  22: g  ' oz  23: lb  ' kg  24: kg  ' lb 

25: atm  ' Pa  26: Pa  ' atm  27: mmHg  ' Pa  28: Pa  ' mmHg 

29: hp  ' kW  30: kW  ' hp  31: kgf/cm 2' Pa  32: Pa  ' kgf/cm 2

33: kgf • m  ' J  34: J  ' kgf  • m  35: lbf/in 2' kPa  36: kPa  ' lbf/in 2

37: °F  ' °C  38: °C  ' °F  39: J  ' cal  40: cal  ' J 
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“NIST Special Publication 811 (1995)”

J'cal 15°C

  ± 1 ×  10 –99 ± 9.999999999 ×  10 99  0 

15

10
± 1

± 1

sinx

DEG 0 � |  x| �  9 ×  109

RAD 0 � |  x| �  157079632.7

GRA 0 � |  x| �  1 ×  1010

cosx

DEG 0 � |  x| �  9 ×  109

RAD 0 � |  x| �  157079632.7

GRA 0 � |  x| �  1 ×  1010

tanx

DEG
|  x|  = (2 n–1) ×  90  sinx

RAD
|  x|  = (2 n–1) × π /2  sinx

GRA
|  x|  = (2 n–1) ×  100  sinx

sin–1x
0 � |  x| �  1

cos–1x

tan–1x 0 � |  x| �  9.999999999 ×  1099

sinhx
0 � |  x| �  230.2585092

coshx
sinh–1x 0 � |  x| �  4.999999999 ×  1099

cosh–1x 1 � x �  4.999999999 ×  1099

tanhx 0 � |  x| �  9.999999999 ×  1099

tanh–1x 0 � |  x| �  9.999999999 ×  10–1

logx/lnx 0 � x �  9.999999999 ×  1099

10x –9.999999999 ×  1099 � x �  99.99999999 
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  e  x –9.999999999 ×  1099 � x �  230.2585092 

'x 0 � x   �  1 ×  10100

  x  2   |  x|   �  1 ×  1050

  x   –1   |  x|   �  1 ×  10100 ; x G 0 
3'x   |  x|   �  1 ×  10100

  x ! 0 � x �  69( x )

  n  Pr
0 � n �  1 ×  1010, 0 � r � n(n, r )
1 �  { n!/(n–r)!} �  1 ×  10100

  n  Cr
0 � n �  1 ×  1010, 0 � r � n(n, r )
1 � n!/r! �  1 ×  10100  1 � n!/(n–r)! �  1 ×  10100

Pol(x, y)
  |  x| , |  y| �  9.999999999 ×  1099

x2 +y2 �  9.999999999 ×  1099

Rec(r, θ)
0 � r �  9.999999999 ×  1099

θ: sin x

°’ ” 
  |  a| , b, c �  1 ×  10100; 0 � b, c

 2  ±1 
.

  |  x|   �  1 ×  10100

↔  60 
0°0´0˝ � |  x| �  9999999°59´59˝

  x  y

  x     �  0: –1 ×  10100 �   ylogx �  100
   x    = 0: y   �  0
   x   �  0: y = n,

m
2n+1

(m, n )

 –1 ×  10100 �   ylog |  x|   �  100

  x
'y

  y     �  0: x G 0, –1 ×  10100 �  1/x log y   �  100
   y    = 0: x   �  0
   y   �  0: x = 2 n+1, 2n+1

m
(m   G 0; m, n )

 –1 ×  10100 �  1/x log |  y|   �  100

  a b/c
 10 

RanInt#(a, b)   a   �   b; |  a| , |  b|     �  1 ×  1010; b – a   �  1 ×  1010

•

• xy, x
'y, 3', x!, nPr, nCr

•

• π
  |  x|   �  106

π
π
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d e A

d e

14 ÷ 10 ×  2 =  14 ÷ 0 ×  2 =           B

   14  / 0  * 2  =

   e ( d)

   d 1  =

A

Math ERROR
•

  • 
  • 0

•   • 

Stack ERROR
•

•
•   • 2

Syntax ERROR

Math

Math

Math
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Argument ERROR

Dimension ERROR (MATRIX  VECTOR )
  • 

 • 

 •   • 

Variable ERROR (SOLVE )
•  X 

•
 •  X 

  • 

Can’t Solve (SOLVE )

•   • 

Insufficient MEM
TABLE  X  30

 Start  End  Step

Time Out

tol

1.

2.

3. O

4.
19(CLR)1(Setup)=(Yes).
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1.1A(OFF)
•

(fx-991ES PLUS). 

2. (+) (–)

      

   

 fx-570ES PLUS fx-991ES PLUS

3.

4. O19(CLR)3(All)=(Yes)

•

 fx-570ES PLUS: AAA  R03(UM-4) ×  1
 fx-991ES PLUS:  LR44(GPA76) ×  1

 fx-570ES PLUS: 17,000 
 fx-991ES PLUS: 3 1  1 

 0.0002 W(fx-570ES PLUS)

 0°C  40°C 

 fx-570ES PLUS: 13.8( ) ×  80( ) ×  162( ) mm
 fx-991ES PLUS: 11.1( ) ×  80( ) ×  162( ) mm

 fx-570ES PLUS: 100g
 fx-991ES PLUS: 95g
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k

1N(SETUP)2(LineIO)
 K-5 

k

 K-9 

k Ans

 Ans 

k STAT 

N1(COMP)
k

19(CLR)1(Setup)=(Yes)
k  CASIO 

)

 (sin 30) + 15 v
(S-VPAM)                          s 30  + 15  = 15.5

b s 30  )+ 15  = 15.5
)  sin 45

    s 30  + 15  =   0.7071067812
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MEMO

K-45

MEMO


